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I. Find the following derivative: (83
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2. Solve for y as a function of x: St el {15}
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3. In the metric system the acceleration due to gravity is a = - 9.8 m/sec/sec. I
at T = 0 sec, the velocity is v = 12 m/sec up and position (s s = 100 m above
ground. What is the position when t = 2 sec? ‘ (10}
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4. A circle has a radius of approximately 15 in. We know the radius withip o W /\f
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5.

The range R (in feet) of a sweeping-type lawn sprinkler is given by the
formula R = 100 sin{28) , 0 < @ < 7C, {R = distance to where the water hits)

where © is the angle above the horizontal. If the angle is changing at the rate

of 0.1 radian/sec when the angle is 71/3, how fast is the spot where the water

hits moving along the ground?
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Sketch the graph of f{x) = x - 4x% + 12 in the box. Give range used,
Analytically find -y coordinates of critical points and points of inflection.
For what values of x is the function increasing? decreasing?

For what values of x is the graph concave up? concave down?
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Ol from s pipeline on shore is i@aking into the ocean at a constant rate. A
semicircular oil slick is forming, and its area is increasing at the rate of 20

50. Yd. per hour. How fast is the radius changing when the slick has a radius of
100 yards?
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8. Acorral is to be made with 8 compartments as shown. If the amount of fence
available is 1200 ft, what dimensions will yield the {argest corral? (10}
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8, Sketch the gﬁph of the following. Give equatﬁns of asymptotes {if any). Give ouit”
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